SJQU-QR-JW-011 (A1)

— EXER

IREHFHE TR

RIEBR A RLREFH 2R G 1 S
RIEKE 2055069 RIEZEFS 5250 IBFE 24y 2 A 2/32
RIRHUH [ 9'&] HF TS 23397 /3R IR
LRI TH#} B24-2 YRR N2 44 FRH=E 55310, 321
EETRHE RiE) = 5678 e 7-327 FiE: 18019985042
IBIRE ARFEMEE | https:/mooc].chaoxing.com/mooc-ans/course/247922872 html
1% P Bkt T
SEYMEER | TS 51 BV CIBFHR, FREE, BF TR

= R FHE R

x| R HEAE wEHR | el
S

L o2 S, ATEURE, BHUEH, RARIHES 5280 uiﬁG*
HH

2] 2 4421 22 G P HE P g | TS
ff:

.

3 2 proteus 1j FLE AR ] SpI BRS¢
ff:

S

4] 2 Bt 2 G OB H B g | PR
ff:

S

5|2 W HL B g | PR
ff fh

6| 2 R i g | TRES
ff fh

S

7 2 Process On 2 #i|F2 i FE K eI Wl:/‘:li =
afa)




SJQU-QR-JW-011 (A1)

, iR
8 2 Process On 2 #il|FE e K S -
=
" ‘ R
o | 2 R, TR M I S "
=
" ‘ ‘ B
10 2 350747 AN (R R S .
1E i
" . R
11 2 B 1R IR S L
1E i
. . BT A+
12 2 BB AR S L
1E i
R
12 2 LRSS S a
=
R
4 | 2 TR S -
=
. . . BT+
15 2 {1 T e 7 S A o
E i
B B+
6 | 2 e SR P B B ﬂED”
AT

= ERAN

IS8T )54 gtk EZZAR
X1 PRAR BRI 60%
X2 Wit 40%

EREID: Sk (FR) REMFHEZ: BEH (XF®)  HH#A: 202549 A



